CHOOSE THE CORRECT ANSWER:
Q1 - She went out ____ the rain                                                     Although        despite.             However
Q2 - She went out ____ it was raining.                                          Although   despite         however
Q3 - She went out ____ the fact that it was raining.                   Although         despite   even though
Q4 - ____ she didn't like it, I enjoyed it a lot.                                However    Although        In spite of
Q5 - It was good, ____ expensive.                                                  Though    despite.  However
Q6 - I was late. _____, the others were all on time.                    Although   however    despite
Q7 - ____ I was late, the others were all on time.                       Although   however    despite
Q8 - They managed it ____ I wasn't there.                                   Although   however    despite
Q9 - They managed it ____ the fact that I wasn't there             Although   however    despite
Q10 - ____ tired, he managed to finish it on time                       Although   however    despite

EXERCICE (2) :
FILL IN THE BLANKS WITH THE APPROPRIATE WORDS GIVEN IN THE LIST:
Although-Even though-despite-in spite of 
1.'Our new neighbours are quite nice, ………………… their dog is a bit of a nuisance.
2.'She insisted on keeping her coat on, ………………… …….it was extremely warm in the house ' 
3'………………… being severely handicapped, he managed to complete the race.'..' 
4.'I managed to get good results in my exams, ………………… I didn't revise my lessons.' 
5.'…………………  the appalling weather, they succeeded in walking to the top of Beni Snassen Mount.' 
6.'They decided to get married ………………… the huge differences in their ages.' 
7.'………………… it was raining heavily, we finished the game of football.'
8.'We finished the game of football ………………… the heavy rain.' 
9.'………………… his strong Welsh accent, we understood most of what he was saying.' 
10. ………………… feeling terribly sick, I went to work every day that week.'

REWRITE THE SENTENCES USING THE WORDS GIVEN BETWEEN BRACKETS:
1. The rate of crime in big cities is higher because of urbanisation.(due to)
………………………………………………………………………………………………………………………………………………………… Waste material and chemicals that issue from factories are the cause of water pollution (result in)
…………………………………………………………………………………………………………………………………………………………
3. Due to bad weather conditions, the flight was unable to leave until this morning. (Because)
…………………………………………………………………………………………………………………………………………………………
4. It is thought that the number of cases of lung cancer and heart disease will increase by about 25% due to smoking. (As a consequence)…………………………………………………………………………………………….
5. Peter was having problems with mathematics, so he went to see his teacher to ask for advice (therefore)……………………………………………………………………………………………………………………
6. The government increased the duty on cigarettes. As a result, there was a fall in demand.(because of) ……………………………………………………………………………………………………………………………………………

Past Perfect Simple or Continuous?
1. The living room was empty but the TV set was still warm. Someone………………………………..it  (listen)
2. When I saw Mark he……………………………………………………….his homework. (start)
3. When we got to the cinema the movie……………………………………………………… (go)
4. My father……………………………………all day, he really needed a rest. (listen)
5. When I phoned Jack he……………………………………………………………………to music (go)
6. I was really surprised when I saw Jane. I………………………………………..her for ages. (walk)
7. My sister…………………………………………………for hours when her friends arrived. (listen)
8. Peter's brother………………………………………..ten letters by tea time. (sing)
9. My throat was really sore. I………………………………………..all night. (SING)
10. I called my parents but they…………………………………….to bed. (finish)
